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L. Il the number <1328IPTS0387 s

dividible by 13, then what is the valus
of P ?
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4. Consider the pair of prime numbers
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T. Hoa+b+e=0 Uhedi which of the Bllawing 9. What ia the unit digit in the sxpansion
are comrect? of 67323

L g «b? ¢6% m dabe

2. a4 = 2igheBorod Lo
3 a*+b +e? =daba+ b

by 3
Select the correct answer Waing the code
givan below. el 7
fa} 1 and 2 only i 9

b 2 and 3 only
10. What iz the vadoe of x, I
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18, Consider the dollowing staiements - 1k For what integral valua of x ia

1. 1 is direetly proportional to 5 and 12
yie directly proportional to &, then _T?- . x?
ix* = 1?p fo direcily propertional L
to 29, 5 - x
2. H x is inversaly proportional w =
and p is nverzcly proportional to =, e 9
ll'rﬂ'l‘"l (=] i» imTeely propoertional M a3
to =4
fct 2
Which of the above stalements ivfure
COrPeCty 2y 1
1Ly Py 19, [ xix— Uix -Bix - %+ 1+ k2, then which
i % onky ont of tha [ollowing is a poasible
id} Neither 1 nor 2 fab x%-2ra4
10, What in the HCF of x? - 19+ 30 and i x*-3x-1
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21. For how many real values of k s
Gkx? 4 120ce - 24 + 16  perfect pquars
foT &very integer x 7
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2% It the equation 4x? =2kx+ 1k = O has
equal routs, then what are the valyes
of k?
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i 4 8
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22. Let the aversge score of & chss of

bova andl girle in an examination be p.
The rcativ of boy= and girls in the class
ia 3. 1. I the avwrage score of the hoya is
1+ 1) then what iz the averags acore of
ihe ginla?
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¥z fierh woht

fad  30%
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fdl 35%
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el *L600
idl 1,200
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38, The incomea o A, Band Cars in the rals
719512 and their expenditures are in

the ratio 8:9: L5 Il A's saving ja one-
furth of his income, then the abo of
pavings of A, Band C in
jal S6: oF: 69
i) 90:55: 60
fob ot 56 40
fdl o O 56
9. A train 200 m kg passis & platform

100 m bong in 10 goconds. What s the
apeed of the tain?

o 40 myfz
e 30 mfa
fet 25 mfs

id) 20 mfs

a0 o

T iyt iR I o9
Iz Zxa axda ' mnel 100

that what 8 the valus of m?

o) 98
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31. A trader gives auccessive discounts of
200, 10% and 5% respectvaly. What iy
tha overall dscount?

@) 30%
PYE FEEH
for 328
fd) 35%

22. A :um of money was inverted at mimple
mtermat at 8 certadn Tate for 5 years.
Had it been invested at & 3% higher
rate, it would have fatzhed ¥ 500 more,
Whet nan the pritcipal sdoume?

fap 2,000
@ FL800
& T LEDD
iy 1,200

33, The difference betwesn the compivmd
intersst [compounded anvually] and the
simple interest on & certain sum of

money atl 2% per annum for 2 years
iz 772 What ia the principal amount®

fal 6,500
fb) F G 000
i 5500
dr ¥ 5000
34, A train bravels SO0 ko in & oy and the

mext 900 ks in 10 bours, What s the
averags 1peed of 1the tradn?
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100 km/fhe
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L
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as. Wlll:hmat*ﬂwlhhumnlipud,nm 3. In a5 mixtare of 80 Hires of & Bouid and

in 17 minutes Iake for hin office. What Ja water, 25% of the mixture is the liquid.
the usual tme taken by him #o cover How much wabter should be addad o
i M the mbohyre oo hat the Laguid becomes

20 of the mixbure?
fa 98 minudss

fa) 15 Llitres
i 50 ndouses
it 20 litres
i 54 mingles
fef 24 Ltres
il B0 mdnokes
fdl 25 Litcs
36, Tha copt price of 1040 mngoes iz cqual fo
the sclling price of 80 mangoes. Whal is 3. H 20 persons tan clean 20 flcors in
the profit percentage? 20 days, then b bhew many days can
15 persone clean 18 Moots?
[ 16%
2%
® 20% fa) days
o] 2a% e o
M 25% fob 20 days
16 days
37, X sella hin gonds 25% cheaper than ¥ j
ard 25% desrer that Z. Hew owch
percenlage in Z's goods cheaper than Y7 #0. Lat the work done by =1 men in
(x+ 1) days be p Let the work done
oy 100, by lx+3 men in fx-1 days be z
3 Il yrz=9:10, thetr what is the valipe
of x¥
b afes i) &
i S6% i) &
f) 10
200
e @ 12
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48, 7f2 577 = g, 7 x FewE e A7
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) ————
]_JHEII:I£
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fe) 5- Slog g2 o 3
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S TR
(&) £ .
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41. What is log,q 31-25 equal 102 45, If 577 = 8 then what is x equal to?

f“ﬁ 3'510'51,,:,2 3
ad 1=logyn 2
) 3-2log,y2 10
fer 5-51 2
b e o)
1+ logyp 2
2
42. What iz the aquare rool of 15 - 4147 ic) o
10
fo 2.3 -7
i 32 =247 o 5
!—Inglu"..-"!
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i 5 -3

&, What 1 thee kAt  wvalue  of
3pdn’ B+dccaZep
43, The sum of the reciprocals of twe

altcmate natural numh:nha%. What el 5
ie 1k suim of the oumbera? m 4
k12
e 3
Fi-] B
16
47. H sin®cosd =k, where OCP sg, then
44 Il n i» any patural number, 1han g2t _q hivh P s
CoTIECL
i3 abvayy drnisible by how many auetursl E s g L
N qHe: fop 0sket
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Ll 05ks0-5only
B Faur
fc Six £ 0S< k<l onky
id! Eight fdf Dkl
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1. #ot«cosdT
2, coablf » aln BT

TR § ¥ 2E-m kR
fz; ¥R 1
b AR 2
o L3R 2FE

fd) AW Fmadg

52. TR p=aeco-tan® WA g =cosscd +cotl
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49. U puxinioscoa’e for usasg_ then s1. Conalder the following inequelitles ;

conpider thy follewing fatements 1. =inP<eoaS?
. p can be leas than E 2 copbF>aindT™
2. pcant bt mors than L. Which of the abowe isfare cormect?
Which of the above statements isfare
correcid ia} 1 only
it 2 only
fal | enby

f Both 1 and 2
B 2 only

f Both 1 and 2

& Heither 1 oor 2

EX If p=zocl-tan® and g = comct+coth,

o 2 ' i then what ia p+gp— ]| equal w?

40, What is the rabe of Ihe greateat to fl -l
the mmalleat value of 2 - 28inx —sin? =,
n &l 0
V5 xs5=2
2
£ 1
T
it @ 2
b =1
- B3, Il comodl = ontf m i, then what is cosecl
ici equal ko7
ey 2
fa) m-rl
m
7 B0 If the equabion x* 4 3% - 2gminé =0
contains ragl sohation for x and 3, then o oL A"
m
W oxwy
e o 302
i ox =1y
mo ]
i 2x=y @ Ztam
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B4. Let ABC be & iriangls right angled st C, £8, 1%+ Stand = asch and B- 6 and =k sech,

then what s tan A+ tan B equal to? then what is the value of k27
dr
(] b o 11
P g9 ity 22
o 7T
o B
= Kl oo
{d} % 0. A pols on the groumd kanm at 60* with

the vertical At & point = metre away
from ths haps of the pols on ths grennd,
b hahoen of the pole subtenid the s
angle. [ the pels and tha point are in
the smme vertioal plane, then what is

5. Let cone+ccaf =2 and sing +einf = 0,
where Og0a s%0F, O3B s90°. What is
the vatue of conde - coaldp P

fal O the length of the pole?
Ll s i) iy
{2
() Caonot be datactined due 1o & ~3x mete
npuificient dala o Gx mete
N, Emﬂ-+mtﬂ-§,wher¢ D8 F, then fd) 23 x metre

hat is the vadue of 3in® 87
" § T T & A vertesl tower standiosg at the coroer of

i A A rectangular fisld subteods angles of
4 £0% and 45% at the Do DEATST COYTRDS,
1 ire ta the angle that the tower aubtends
™ 3z at the farthest comer, them what is
cotl equal to?
3
W = 4
@ 3
o 1
BT. What is {1+ cot8 = comct(] + tand + secH iy 2
squal 07
2
-1
¥ 7
o 3
el 2 E
o1 gl
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68. 24 ¢m FER () 3TN % MR A W PN

3 ™ Kraaer Tk 3in 9@ R oR m

# e A agem wa 47 wirg w3 AR o E e 12 cm
fap 11 Ar 16 om £, @ A0 0 W W TR e
@ 2:1 w0

i, Pt fa) 1200 em?

i 4:3

f&l 1800 cm?
a3, 40 mm W TH % M T W Peaare

144 o Tt ) v e ) TR W fe) 2400 cm ¥

Ny {4 3600 cm?

@ 05 cm

b :::1 &6, T TRERER TS (TFrrD ), frel) i

2 5= ﬁﬂiﬁcmﬂnm-;qmt,qmﬁw

ek w3 X W R 9F W 10 cm WARR
g3, TF W (fofr & smm W Ba W, 3ﬂ$ﬁmﬂ$imhmh

o & 4wl ¥ ¥m ygm 2:3 ¥ W
. m| e 1617 cm ¥ ¥, @ fofm (o v

1 TF-THA mrmi?[n.!;m

M 2 cm
by 242 em? i
it 385 cm?
fc? 462 cm? (di 9 cm
i 770 oo™

67. 22 om WM T U ¥ T dW W ®
fimorR, 21 om Pwi W e Wy W
o ¥ w5 & amm & fiom W ¥

4 14 cm P TE WERE TN W AW @R
winfeF Tia IFR W AW 44 em? X Tm

%o cm* ¥ g A wn b vl rm o (x = 22 shife)
frm & o wmiex few ok, @ (Ben 7

X2
ﬂmtmt?{n.?mﬁm. ey i
R @ 163 cm
75 <m
ic) & cm ot 22 cm
id} 45 cm fd) 275 tm
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&1. A cone and & hemisphers have squal
bases and oqual volumes. What kg the
ratie of the height of the cone to the
radivs of the hemisphere?

fa) 1:1
B 21
fe) 3.2
) 4:3
23, A golid sphere of dipmeter 60 mm ia

mrelted o atreteh dnte & wire of length
144 cm. What is the diemewer ol the

wire?
faj 0% em
=TI -
15 cm
2 e
#3. The ratio of the radinz of bass to the
height of a cylinderiz 2 3 I the wlume

of the cylinder i 1647 cm ¥, then what
is the curved surfsce ares of 1he

cyll.tﬂnf?[l‘ﬂ&n-?—:j

ja! 242 cm?
b} 385 em?
f) 362 cm?
@ 770 cm?

B, The differstwee between the ouviside and
ihe instde surface area of a cvlindrical
pipe 14 cm long is 44 cm>. The pipe is
made of 90 en? of metal. W R i the
Sukar rading and Fis the inner eadins of
the pipe, then what & (R + A4 equal o

65, A metal solkd cube of edge 24 om e
meli=d agrvd mede info thres =mall
cuber, If the edges of two amall cubes
are 12 em wred 16 cm, then what i3 the
aurface area of the thind amal cubey?
fal 1200 cm?

& 180¢ cm?
il 2400 cm®

id 3800 cm?

#8. A conbeel wassel whoess intermal radias is
5 cm and height 29 ¢m i full of water.
The water is empticd ke & cyindrical
vegse] wilh mternal radiug 18 cno. What
i3 the height 1o which the watsT rises?
fa 1 em
B 2 cm
f] 3 em
iy 4 em

a7 A motal solkd cube of side 22 ocm s

mehed t0 make a cone of beight 21 cm.,

What iz the medius of (e Dk of the

corre? Taloe EIE—:F

fad 11 cm
b 165 em
i) 22 em

{dy 275 cm
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68. 24 cm FTF 9 TF T% W SE-THR 4ER TL 3mSR R 2 I W7 m

550 em? %1 W% B Few W oW R Pt 2w A WE ® aere W 0w A (5=)
Sk A segae w0 47 (0 = 22 wfifan) oA % owwi @ vl Per k7
7 23
(z w = €M)

(w = .

12 fal 21 m

5 ) 28 m
i "

o i} 44 m

T {dl &6
ic) 5 ¢ i

& T2, & cm W E THE TH W AE TN A
@ = Wit o dFETRR T § T W k) g oy

frm & em 1 % S Uh We et A

69, 44 cm 3m #r 22 cm ¥ oF AEARER wrm &, ST W\ Ew A e

FITA ¥ | ¥ TP W TR T | e o) 05 em

W W6, AT (s W owm k@ WA ) 1em

o i TR SR o e mw wE feliEER

¥ TR drgi ff Fe vs geg R v il A

o ¥, wen Ay e Wy d sTm

m!?{;-i_}amm TA, 21 o B w v gm d 3 v fieen
() wn wm k) R A & wm R

ol 55 cm ¥, # {9 T R B

B ) @) B7T7S e

g i it 6125 em?

gl i 7055 em?

d, . =
70. 3 gfem® WRR W OF 4 ¥ e S L e

AR I T amn N R R S
o g e B 5 o S om B £ Tﬁ“ﬁTLﬂLaﬁTﬁi%mz

22
TR I AL (w2 V) N R R (s e el
faj 1144 ¢ far 55 o
bl 1024 g o 75 om
fe) 8B40 p £ 85 rm
fa) 570 g & 110 cm
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6. A come of height 24 cm hes & curved Tl A cloth of 3 m width in used to make

surface area 550 cm?. Whet is the 8 cotical tent 12 m in diameler with
ratio of ite redius to slanik height? a slant bheight of 7 m. What is the length
[Tnk#n-% nfuuclnth?rrakes-%
fal = & 21 m
- M 28 m
£ 44
I i
13 {dt &6 m
fcjl T, A sphere of dineter 6 om 8 dmppsd
== inre & cylindrical wessel parily AGlled with
” water, The radius of the messel i 6 om,
i = IF the aphers is completely anbmerged
in waler, then by how much will the
i suriance l=ve] of water be raised?
9. A rectangiuiar paper i3 44 cm long and a1y AR
22 oo wicke. Let v be the volume of the
largest cylindar {ormed by relling the i 1em
paper along ite dength spd g Do the fo) 15 am
volutne of 1w lnigest cyinder rmed by a
rolling the paper along its width What fS7ag) ==
ilth:mﬂnﬂxtuy?ﬂnknn-%z] T3 A sector iz cut foom @ circle of redlua
2] cm. I the kength of the arc of the
fzr 1:1 weclor is 55 cm, then what ia the amca
M 21 of the sector?
fo] 5775 em?
e 1.2 -
i e T 6125 cm
. ' &) 7055 em?
0. A hollow apheticsl ahell is made up of fey 7255 em?
a toetal of density 3 g fem”. i the (s _
inbermal and external radid are 5 ¢m and T4, A wire iy in the form of & circle of radius
22 & rhombuas, thern what i ity side length?
ol the ahall* (Taks gx=—| 22
fa L1444 g i) S5 em
{1024 g @) 75 em
o B4l g il 95 cm
i 570 g fdt 110 cm
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75, X T NHPAER H0F | WAN 360 o b,
mmmwm‘-’i—:m
fa) 3830 m?
o 7700 m?
e} 11550 m?

i} 15400 m?

76. TR (YNFM) ABCDE, A8, DC& B
b el Ac i BD, P owm-gEt S AT
iEvme =) N 3R AP PO =d:dx -4
i BP . PD=-px-0:2x+ HE T eWTA
¥ A7

lal 4

3

3
o5
w2

TT. AABC, abEF ¥ it k) AABC AR aDEFR
¥ 90 FTH 40 cm MR 30 om %)

(BC + £A) T (BF + Ry & a1gom T wm,
¥

e S
b 4:3
& 2:2
() 2:1

XVWS-T-MTK fS0A

78, ) Wiy frg % W W (el b

wan bt dn e e W A
9 .54 ; 5-20 %1 =R T Fmmd) = ST
e .

faj 11:23

o 23:25

o 22:33

fd) 484 :520

9. A5C T Ty } fvem Fim 4 TR Y SR

AD, BC K v ) v BD -8 om R
DC=12-5 cm ¥, M AL P w6

fay 75 cm
& &3 ¢m
¢t 9 cm

fdl 10 oo

80. T T W T 4, % M TR S

% ) T oA W am x b ol TR W\
wrm g, W 2 2 P w37 .

fa} n-6
iy 6:x
fic? =:3

fd I:w




75. 5 the perimeter of & semicirculer park

ia 260 m. then what ia §ta aress

Take :l.-%]

f@ 3850 md
B 7700 m?
j& 11550 mA

) 15400 m?2

76, In a taperium ABCD, AR s parallel
o DO The disgonals AC and BD
mtarsect at P, If AP PCw 4 $tx —4)and
EF- PO = 2x =) (2x +4), theo whal is
e vatae of x7

faj 4

b 3

i

B | L

idl 2

T7. AABC s mmilar to ADEF, The porometer?
of AASC and ADEF are 40 oo amd
30 e respectively, What is the ratio of
{EC+ CA) W (EF « FO equal to?

fap 5:4
o 4:3
fo) A2

fdy 2:1
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7. Two  isosceles

iriengles have equal
vertical angles and thelir areas are ity the
mbo 4 -84 5-2% What iz the ratie of
thedr correaponding heighter

faf 11:23
i 23:23
fe) ¥2:23

il 484529

19, ABCis a triangle right wngled at A ard AL

iz peipendicular o BC 0 BD =8 cm
and DO=12-5 ¢m, then what iz AD
equal to?

fa TE em
B 83 cm
o) 9 oo

&) 10 em

$0. The wurface area of & cube 5 equal w0

that of a sphere. I x i the volume of the
cnbe and & is the volume of the sphere,
then what is x%:y* equal to?

oy A
[ I -
& =m:=3

fd) 3:m
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L T T A A g (e - rix - 14

* argwe i $1 o = wion w42
fa) 28 yer
b} 42 g
fer 56 v
fdt &4 VR

82, abC o fiopn }, e ¥ poEm TR

Wi & o N, A5 T TR D g B
&AM = ir e vE ¥ AR E P A g,
ACHRTEEARTES Py, Oor ¥
wiw b osr ON cB O oToee Y wh
;E-l!mt.ﬁ{!’lfﬂ;lﬂ;ﬁﬂm

fal 10 cm
B 11 cm
el 12 ¢m

# 13 cm

B3. ABMR CD W 30 ¥ 7w & o we-w W p

:ﬁ:ﬂtl AC, OB, BD ®n D4 % fmm
1 4% sPaD a8 ¥, A
. Y, @ -BPD Fows

fal 0
ity 60
fe) 9O

i 120t
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84. T» WAy fupy aBC MR TR Fweg fop

OB5C TE 4 59 ¥ on 0l or% #ifE
W ¥ | B0 PEEE R # 3

) 30
b 45"
o &0

i S0

85. W e ASC W YA 4 cm, & om AR

2 cm ¥ Pofx % inf At i ow o
#hnmmiﬁnﬁiﬁmgami;
T MR Y e W A g A
Pt v dmea w4

fa) & +m
i 7 oem
9 onm

10 cim

B6, WM pAR B MR Rzt

T W A AR 5w wEn Y ok pr
o iy (M i) Ji R FA=9 cm
HR PTa 12 om ¢, %t a8 g aRn 27

| 5 em
B} & cm
fef ¥ om
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¥1. The wides of & right-angled triangls are In 84, An equilateral rangle A8 and & acalene

the retio x:{x - B:ix - 18 What is the triangl: DBC are inscribed in & <hele on
perimater of the (rangke? paumne shde of the arc. What v ZBDC
equal to?
fal 2B undle
fa) A
& 42 unils
L) 457
f¢j 56 unita
(- -
id} 24 unite
{dr oo
* B2, ABT is » triengle right aowgled a1 B Lat i
M and N be two points an AP such that 8%, The siden -:rfln'hnnlh ﬂBCm_"i <m,
: Alf =« MN=NB Let P and §Q be two 6 cm and § cm. With the vertices of
pointe o0 AC auch that FM is parmlls the triangls as canires, three circles
xtermndly. What is the aum ol the radii
BC=12 cm, then what s (PN + QN . 2
equal 1P of the thires gireles
faj 19 e i Acm
b i1 em (R (e
& 12 cm el 9 cm
Lo e
{13 cm S R
] ’ B Let PAR Be o secemt fo & omele
83. AB and €D ave the dinrreters of a circle interaecting the circle ut 4 and B Let PT
which intersect at F. Jain AC CBR RO be the tangent segment. If FA =9 o
. ard DA Il <PAD =&(F, then what s and PT=12 cm, then whet # AS
it 30 a %om
ol Bl & cm
fa oot f T em
Fa | R B it % cm
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#7. TR v T o W oofam 30 em ¥ Al £9. ABCD wE T (diem) & fl AR Do

TR F )2 em ¥, @ fingw =7 deew wm ¥ waew ¥ ol 245 - 3Do ) el A 2

| X BG, ¢ TR W I AAcE & wen w
ADGC  4ram o som v &7

! 24 cm?

fal 2:1
it 27 em®

e 3:0
fct 30 cm?

for a:1
il 38 em?

[ 9:4

88. ABC % g ¥, frrw =0 Cwwsm #) WA
A 48w W wifen e o B TR 90. T P71 Pl WM Apch W Wl sl W

U TR BCaEem MW CA B em ¥ W i Fm b o AB-0 em, BO=3 em

o %1 9F T A A OO - 12 co ¥, B DA PEER oA A7

e 54 cm @ 14 cm :
i 5o i 13 an

438 cm fc/ 12 cm

o e ) 11 cm
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87. IM ke permeter of a right-angled 1angle
i# 30 con Arwd the hypotenuze g |13 om,
then whal i3 the area of the trigngle?

fal 24 ¢m?

fil 27 em?

&) 30 cm™

{d} 26 cm?

BE. ABC I8 & (riengle nght angled sl O B2t
P be the length of the perpendicular
drawn from Con AE [ BC = 6 cm and
CA = 3cm, then what is the value ol p 7

fay 54 cm

el 48 cm

i 42 cm

XVWE-T-MTE /50A a1

89, ABCD I a twmpediucn m which AR »
parallel w DO and 245« 3DC The
diagonaly AC and ED indersect at O,
What i ths ratio of the arca of AA0F
1o that of AP ?

far 23

b 3.2

et 4:1

b, A cicle louches all the Jour aides of
a quadrilateral ABCL. W AB=% cm,
BC= 8 ¢m snd CD =12 con, thetn what
s DA squal tod

iy 14 o

fer  LE am

11 em

| PTO.




o1 Bl % A (o §) % wed § frafafm o1 faefim skestR miEE (e
e 2,3, -1, 2,6 8 9

o p1s | ™ 2016
| ma Aas ag Uaks
o 5 45 47
Wc | 8 o3 | Bl
wmp | ™ | ™ |
“wE | ss | 0w | e o8
fim i A v W T 2015 WMy H 5
2016 8 535 s R A by
i B E
bt WM aA c¥eD 94, TG TA AR AEnH] W A A (PaERE
fo A C DHRE o) =k
il FRa DAME
fo BS
9z2. Fafafen oot 50 A B wr vie A
90 Tl ¥ i Tt Y (B 95
’ i wral ot e ) 102
1-10 | 1 i
1120 | 8 T AN
2 1-30 gt
31-40 13 95. 5 W TR W fey e @ 21, 27, 19, 20,
sl e 32 197 A T ™ 6 A A 5 3 S
§1-60 17 (fm ol e 3w fm oo 4 oEl W
B1-70 12 i 30l = i o v B .
71-80 7
— wWe.
firr o Wl 350%™ W W T MR
e ¥t PP
o 30%
b a0% i 3
e 35%
fdy G0% ) 32
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91. Consider the following dain with regard
: 10 production of cars [in kkhs) :

In which &f the countries, the
production of cars has increassd by
more than o equad to 5% in 2016
cuer 20157

a Hand E
{8} A, Cand I only

i} A C Dand E
() A, Dand E only

2 The lellewing table shows the marks of
Bl wudents in & tewt of 5 macke ;

| Marks | Number of shudents
1-10 5
11-20 | B
21-3¢ | 13
40 | g = -
4151 | LB
51-6¢ | 17
Gl=T0 | 12
BEE . DY - =Y

The perceniage of studeniz who have
obtaimed lear than or squal © S0%
MATES 8

T L]
L= L

i A%
idy $0%

KYWS-T-MTK/ %04

_ Year 2015 | Year 2016 |
_Couniry A Wl
Country 5 45, 2l 3 47
Country C ag o5
Country D el e |
Couniry E | 58 | ooe |

23. Whatis the median of the following daiar

0.3, =1, 2 & & %

ey 2
it 3
i 4

idf 5

4. What i3 the arithmetic mean of s hingl
teTL Compotite numbers?

fap 85
m %5
i 102
[y 112
95. The marks sheained by 5 students ars
21, 27, 19, 26, 32, Llatsr opf 5 giace

marikes ate added 1o asch apod=al. What

ara the sverage marka ¢f the reviaed
marks of the students?

ot 26
i 30
g 31

Q) 32
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os. WA M m daii | e p % e A e os. Heidy vl & m 4 & Pl m Toie

wmInm g ¥, T p 5 g ¥ TR e ) DR Thitwdi (Y ) ¥ W & ame W Y
M WY WA ¢ ¥, 9 Rkl & PR

W ¥ faj (2003, 2008)

b iy (2001, 2005)

o & (2003, 2004)

i gscsp

o0, 2001 % T 4 2004 ¥ o wEn A WA A
wiven T 2001 & 2000 # gm
T H el W i @ aEeR

ik - 1

fa)
A W (4} T W Fm et Prh § i ;
i -Ffim At & fafiae e (L o, o, v, v

i v # PP vy (T @) @ frae Hi . (bt 41
i 1 I 1 v v

;‘iﬂiﬂ _164] S0 | VO | 90O ris 1
200L | 200 | 150 | A5 | 160 | 100 « 3
2002 | 135 | 35 44 95 | 85

2003 | 240 | 95 | 120 | &0 | 120

a004 | 180 [ 110 | RS | @5 | 115 i
2005 | 210 | 150 | 1100 | 92 | 110

|

97. ™ 2000-2005 ¥ @k A fFn R W T

100, frm W | [ | T, TN i T
FH TREA T

% 0 TR & A 47
foi. e fa} 2001
& T @ 2002
fet WA IV for 20032
) TMY . i 2004
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28, Let o be the mean of m observations and

q be the mean of n observation=, where
P35 Il the combined mesn of [m + )

98. In which on= of the following paira of

ytars, the diference in total number
of ablets produced betwesn them i

cbservations iz o, then which ane af the
followring i coTrect?

minbmwm P

fe) (2003, 20035)
fal csp

it (2001, 2005)
o) czg fe) 12003, 2004
i} psesq faf (2000, 2002
i) gsesp 9. Ths retic of percentages drop in total
Producton in 2004 compared to 2001
. 10 that m 2000 compared ta 2001, is
Dilrvotbons
For the oext fowr {4} ftems,  corsider fa) L
the lowing data with regard o different typas 3
(. I T, TV, V] of multivitamin wablets produced
m a company fin lakha) : P 1
Feor | | Tl T T i
| 2000 | 160 | 2D T ag | 75
001 | 200 | M50 | 85 | 180 | 100 ) AL
2002 | 135 | 36 | 44 | o5 | gs P
2003 | 240 o5 120 80 120
2004 | 180 | 110 | 85 | w5 | 115 | |
(2005 | 210 | 150 | 100 | 92 | 110 | % 5

9%, Which preduct is praducad Jeast over the

yemrs 200020605 100, In which year, b production of Type 1 ia

mope than the aum of the prodoedon of
Type M wivd Type V7

@ Type Nl
fal 2001
i Type I @ 2002
fo} Typa IV fel 2003
{d} Type V {c) 2004
XVWE-T-MTE/S0A 35 | BT




SPACE FOR ROUVGH WORK

XVIWS-T-MTI/B0A 34




BEPACE FOR ROUMGH WORK

XVWE-T-MTEK/50A aT [ BET.O.




EPACE FOR ROUGH WORK

XVWE-T-MTH/30A kL




SPACE FOR ROVGH WORK

Ll

KVS-T-MTK/S0A 0

2IBS—1024912




L

-

mmamrmmmmmmmmmmm

T.B.C. : XVWE-T-NMTK Tast Booklet Berles

Berial No4 587913

TEST BOOKLET
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Timeé¢ Allowsd : Two Houns Maxiprims Marks ;1 100

1

2.

. You héve te anter yous Roll Humber on Ihe Test Ecoklet m

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK
THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORH OR MISBING PAGES
OR ITEMS, ETC. JF 50, GET IT REFLACED BY & COMPLETE TEST BOOKLET.

Plasis moks that 3t e the candidats's to sioods and A In the Foll Humbar
sl ‘Tent Booklet $arles A, B, Cor D and whhout any omdasion or wk
the approprists places in the OMR Amswsr mmmmnmr

tha Anrwar Bheat liabls for rejectiom.

the Bax provided alongside. DO NOT write angthing als4 on
the Test Boaklet
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10 take away with you the Teat Booldel,

Sheets lor mugh work are appendsd in the Test Bookiel at the énd,

h?é? r wroug sEaward :
T WILL BE PENALTY POR WRONG ANSWERS MARKED BY A CANDLEATE [N THE
ORIECTIVE TYPE QUESTION PAFERS.

{il There ars four altermaiives for the andwer bo every queAtion. Furencthnr which &
wmn;anmrhnbumw\%nwmecmdidlu,m-thhdﬂm:mu anigned to that
queshen will be deduc an petyldty.
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meﬂu:enanmnhapp:mmhemwnmdthmudﬂb:mapenalq.rnah-uvemthat
questlon,
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